Bureaux @ S
Tables @vo % o° &Q o’
B able 0[0 0 90 Vi 418,89 40 90
B 1Table2| 100| 12| 88| 36| 40,91 52| 59,09 : 62 1 VOIX
B 1Table 3| 100| 17| 83| 37| 4458] 46| 5542 i ‘
B 1Table 4| 100 10| 90| 28| 31,11 62| 68,89|% !
B2Table 1| 100 13| 87| 38| 4368| 49| 5632[er E ‘ $ 4 2 0/
B2Table 2| 100| 12| 88| 43| 4886 45| 51,14 o e | (0]
B 2Table 3| 101] 16| 85| 47| 5529] 38| 4471w vl ]
B 2 Table 4] 101| 7| 94| 36| 38,30 58| 61,70
B able 00 O 3 O 30 64,20 1
B1Table2| 117| 18] 99| 33| 3333] 66| 66,67/
B1Table3| 100 8| 92| 37| 4022 55| 5978l Ay a.
B 1Table 4| 100] 7| 93| 38| 40,86] 55| 59,14|ss v v/ 827 VOIX
B2Table 1| 121| 13| 108| 53| 49,07 55| 50,93|ws v
B2Table2| 100| 11| 89| 47| s2.81] 42| 47,19]s CHOISIR
B2Table3] 100 9| 91| 38| 41,76 53| 5824 o NCE 0
B 2 Table 4| 100| 10| 90| 37| 41,11 53| 5889w /0
B able 0 HD 0 HD 0! [ e ! s ,
B 1 Table 2 0 #DIV/O! #DIV/O! [0 h—
B 1Table 3 0 #DIV/0! #DIV/0! |o
B 1 Table 4 0 #DIV/0! #DIV/0! |o
B2Table1 0 #DIV/0! #DIV/0! |o Nombre d'électeurs inscrits 2294
B 2 Table 2 0 #DIV/0! #DIV/O! [o Way 1
B 2 Table 3 0 #DIV/0! #DIV/0!|o 71 49 % part,l(_:l Pa_'tlon
TOTAL 1640(192| 1448| 621| 42,89 827 57,11|uss ! définitive
716
Bureau n°2 823 91 732 339 46,31 393| 53,69(732

1640 192 1448 621 827






